


CHAIR INSTRUCTIONS

Seat Assembly

REQUIRED TOOLS
(NOT INCLUDED)

- POWER DRILL

- 7/32 ALLEN WRENCH
- 9/16 WRENCH

K- #2 SQUARE DRIVE

Bench Ends

@ HARDWARE )

iy )

4

3/8" x 3" Button Head Cap Screws

4

3/8" Hex Nufts

8

3/8" Flat Washer

Ty

8

#10 x 2.5 Flat Head Screw

EN

2

#8 x 1.625 Flat Head Screw

HARDWARE &
TOOLS REQUIRED 2/5
FOR ASSEMBLY




CHAIR INSTRUCTIONS STEP 2 [REMARKED

STEP 1 Fﬁ/@ T /@

[
—




CHAIR INSTRUCTIONS

STEP 4

4/5




CHAIR SPECIFICATIONS

18.25

23.04

|

—
-_—

36.81
e
®

35.69

17.25

1.50

23.50

—
—

20.77

CONSTRUCTION MATERIALS:
Recycled Plastic
HARDWARE:

Stainless Steel

ALL DIMENSIONS SHOWN IN INCHES



	PAGE 1
	Drawing View149

	PAGE 2
	Drawing View108
	Drawing View109
	Drawing View110
	Drawing View112
	Drawing View115
	Drawing View116
	Drawing View117
	Drawing View134
	Drawing View135
	Drawing View150
	Drawing View151
	Drawing View165

	PAGE 3
	Drawing View152
	Drawing View153
	Detail View AB (1 : 5)
	Detail View AC (1 : 6)

	PAGE 4
	Drawing View140
	Detail View Z (1 : 6)
	Drawing View156
	Drawing View157
	Detail View AD (1 : 6)
	Detail View AE (1 : 6)

	PAGE 1(2)
	Drawing View160
	Drawing View161
	Drawing View163
	Drawing View164


